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geieTlerat & fera frdr Instructions for the candidates :
I. G¥TaT OMR 39T i@ UT HGAT 1. Candidate must enter his / her
&/ WAHT T (10 & @) Question Booklet Serial No.
HITIT fordd | (10 Digits) in the OMR Answer
' Sheet.

2. ‘?'\’?HTW? Jyrayg 397 el d & 2. Candidates are required to give their
Il T/ answers in their own words as far

as practicable.

3. gt BH?FWW@WWW 3. Figures in the right hand margin
fAffee &vd &1 indicate full marks.

4. wvl F EZWFQ'W ‘?8:? # [T 4. 15 minutes of extra time have been
getenferal Fi 15 faae &1 Akaes T allotted for the candidates to read

fear T 81 the questions carefully.
5 g8 MHIT 5‘7%37 gl @vel 4 & — 5 This question booklet is divided into
&Ug-37 U9 TUS-T/ two sections — Section-A and
Section-B.
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6. WUF-3r # 70 awfra v 2. frrd 6

4 faet 35 gyt @ A A
dfvard &1 35 gyt @ s # I
A T g 35 @7 & geww &M
T & fog 1 e Fifta &1 9
ST 34 & 7 3uersy Fwrd T OMR
ST-vIE g my wd et @
At / @t @t o 7 FIE FH
vt st waw & wgew / A
Wl / &g / g T FT OMR
I wAE ® wahr Fww A 8
=T QAT g 3aT=y ghT )

@S - q H 207y IwT 9§ |
gRiE & forg 2 s Friifa & Frd
q fFt 10 weAi @ FAw AT
Afrard & | 793 afake zg @ve 4
fore s s FriiRe & fre @ Rt
3 wvAt &7 FAv AT Afvard &

fre! g & geRglAE TR F 8.

s quferar afFa & |

In Section-A, there

70 objective type questions, out or
which any 35 qves'tions are to
answered. If more than 35 ques
are answered, then only first 35 iy
be evaluated. Each question ca"'fes
1 mark. Darken the circle with

/ black pall pen against the COrrecy
option on OMR Answer Sheey
prouided to you. Do not
whitener / liquid / blade / naig
etc. on OMR Answer She“'
otherwise the result  will p,

invalid.

In Section - B, there are 20 shor

answer type questions, eqqp
carrying 2 marks, out of which any
10 questions are to be answereq
Apart from this, there are 6 long
answer type questions, eqch
carrying 5 marks, out of which any
3 questions are to be answered.

Use of any electronic appliances is
strictly prohibited.
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U - A / SECTION - 4

Question Nos. ] to
70 have four options, out of which only one is

optio
", on the OMR-Sheet. Answer any 35 questions. 35x1=35

L. mh(%iﬁ)%aqaﬁai%ﬁmﬁmm,ﬁﬁw%?

mark your selecteq correct. You have to

(A) w=Betr,
2 B = P'?' ﬁ”‘u
B n >
(C) =B
M 5 o) . %

Which of t .
- )03 he following is correct for refractive index of mean colour ( yellow

Mt ~
A us 5 B) jp=tr M

2

_ By ’
© w=7 D) ==t
THIGR WelE ot e 1 ugt ) v @ @
(A) 3 B I
[C] 100 cm lD) 10 ecm
Power of parallel sided glass-slab is
(A) infinity BT zero
(C) 100 cm (D) 10 cm

3. ooy gol-faeiqor sXeR g 8
A (n, 1A B (k, -k,
(D) (n, +1, A

© (b, +h,)
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Angular dispersion is equal 10
(A)  (m, -n,)A

B) (v~ H,)

(D) (p, *H 1A

F T E ?

{Cl “’l';. + ur ]

T et % ferg Fefetad d

Ay  f.=f B fo>/e
o e

(C) fo <fe (D) fa << fe

Which of the following is correct for Astronomical telescope ?

(A) f,=1, '_)Bj fo>te

€ f,<f, D) fo<</e

T H e , 1 HH BT 8

A) YA B ¥

€ 1 D) 9x10°

The value of €, in air is

(A)  zero [LB‘)/ infinity

< 1 D) 9x10°

ﬁﬁﬁﬂiﬂmiﬂﬁ&awwmﬁmﬁmmaﬁanm#ﬁm%

(A) qE (B) %

© 2 O JeE

The value of force acting on a charged particle in electric field is

fA, qE ) (B} %

‘@ ?f‘ | D) J9E




~1

fos 7 A 3 B & da guaeg it &

i C C
1 1= { — B
(A) C &
(B) >
bl » 2
(C) 2C D =
Equivalent capacity between A and B in figure is
C
T — B
| C
A C 5
2
(C) 2C D =
(D) C
G2 @ HfeREAT & fou Frsfefea § @ G@ § 2
(A p=XA B p= '131:47'

L |
o R D) p=RLA

Which of the following is correct for resistivity of a material ?

g

L

(A p=— B)  p=5x

€ p=5 (D) p=RLA
fenya-srauTer SRR gt &

(A) g—f, (B) dx.dV

() % (D) T A HE A



Potential gradient is equal to

W dx i dxdV
. of these
(©) %% (D) _Nm‘u of th
10. foga goiaw #1 s.1. OFF ¢
(A) M- (B) graffat-HiE
© ae-fer o (@R)HED

S.1. unit of electric flux is
umpcrc.mclrc

(A) ohm. metre (B) |
(C)  volt-metre (D) (volt) (metre)
11. mo..ne ﬁﬁm’fﬁf@'ﬁﬁﬁqnﬁmmqﬁ??
@ 4 B) 8
(C) 42 (D) 100
Which of the following values of n is not possible in relation Q=ne ?
(A) 4 (B) 8
c 42 (D) 100
12, U SHiAR qewT 9uRE @ wiikar % foe frefefaa § @ w6 § 2
€g A ' €, d
W =g ® <
d A
© A o iy

Which of the following is correct for the capacity of a parallel plate capacitor ?

(A) E"LA (B) E‘i‘qd
d A
@ oz o A
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fugget Ul bl wifes @R @

2
N VR B) V.K
v 2
©) R (D) VZ.R.IT.

power of clectrie circuit is

A VR B) VR
©) _Ei (D) V2.R.I.
yrfeeta wfqard g &

w B

(C) w.c (D) EIE

w c
A = B

. .
(C) w.c (D) e

wfadl o WHIeR e o f=fafea § wF afe e @d e ?
A)  favEiE (B) HW

) favaiar R ury 3T (D) ¥ ¥ HIg Tl

Which of the following is the same in parallel connection of resistances ?
(A) Potential difference

(B) Current

(C) Both Potential difference and current

(D) None of these

171 C [(A)-9001-C33) Page 7 of 28




l6. U &t A B @

O }l
13 10°m
(A)  10*mH (B)
| (D) 10 ®mH
() 10 *mH
One henry is equal to
1(_)“ mH
(A)  10°mH (B) |
10 llmH
© 103mH (D)
. - ?
17. maﬁzaafaa;%mﬁmfafmﬁaﬁwﬁ% :
1
S B Ta=x
A Ta = 576031
T =
) T, =(0-6931)x (D) fa ™2
. aueselement ?
Which of the following is correct for radioactiveelemen
: 1
- A B Ty =7
A 1o = 576931 B T "%
D T,=5
(C) T, =(0-6931)2 (D) a2
18. fyefefga § 7 @@ & ?
(A)  (1100), =(12))0 (B)  (1001)y = (12)i0
(C)  (1111); =(12)9 (D)  (1011); =(12)ho
Which of the following is correct ?
(A) (1100), =(12)0 (B) (1001); = (12)10
(C)  (1111); =(12)0 (D) (1011)y =(12)9
19. T e & forg FreAfafad § #1F w6tE 2
{A) AND, OR, NOT (B) AND, OR
(C) NAND, NOR (D) OR, NOT
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TR T T T

which ol the following is correct for fundamental gate ?

(A AND. OR, NOT (B) AND, OR
(C) NAND, NOR (D) OR, NOT
o A e siefer 9 &
(A} HIETH B o-F
©) 3T (D)  FeAEHEH
which of the following is not charged ?
(A) Photon (B) « -particle
(C) 3 -particle (D) electron
51, e 1A 6T T-rg A dien {1 &1 | @l €
(A) 1 (B) )
< 3 (D) 4
The value of yellow colour in colour code of carbon resistance is
(A) 1 [B) 2
c) 3 (D) 4
g, ATEETHIZY HIYET @
(A) "y B) fawa=R
(©) 4RI (D) T G HrE TR
Voltameter measurces
(A) resistance (B) potential difference
(C) currcent (D) none of these
(117 ] C |(A)-9001-C33) Page 9 of 28



23. | _sromeae

4n e, g N
(A) 9 x10°Nm?c? B) 9 10 "Nm :: 2
(€ 9x10'"?’Nm?c? o) 9x10 12Nm*c
The value of ameg is

(A) 9 x10°Nm?c? B 9 10 ?Nm?c 2

12 N 2 2
(€) 9x10"”Nm?c? (D) 9x107'*Nm7c

24, frafefEd o #9F @y W& ¥ 2

- - =
A) E =% B E=aF
- >__1 4
© E=3 D) Eoame, 2
F
Which of the following relations is correct ?
— > - -
@) E=L (8) E=qF
q
> g 2_ 1 49
25. foga-fava SR @t @
q ' w
@w 2 B
€ wq D) Jwg
Electric-potential is equal to
q w
w 2 ® 2
(C) wg D) Jug

[117]C (A)-9001-Cys3 Page 10 of 28




% Ferefeita favsr- st @1 .1, wyrrer e 3

(A} cm (B) cm?
(€) cm'! (D) cm™
S.1. unit of clectric dipole moment is

(A) cm (B) cm?
(C) cm ! (D) cm 2

g7, T S (F) SR g &

(A)  1CV

B 1cv!
(€ 1¢Cv-2 ) 1cv?

Onc farad is equal to
(A 1cv B 1Cv7
© 1cv-> @ 1cv?

28, RN et &Y Refasy st 2t &

(A)  Cv? (B) 3cV?
1oy? | Jcv?
(C) 3 Cv : (D) 4 cv

Potential energy of a charged conductor is

(&)  CV2 B) 3CV?
© lcv? | @) LoV
29. veTE-ay fr siife afer &1 e R 2
Com @ B) W
€ Hel | (D)  SehTeT i citelet
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30.

31.

32.

\Jz{ Real and erect

The unit of which physical quantity i8 light year ?

\(}T/ Distance (B)

(C)  Encrgy (D)
U TRl GeeREl @ s gan e g ¢

(A)  reafaes 3R i (B)
() ardfas R g (D)

The imagc formed by simple microscope is

(A) Virtual and erect (B)

(D)

Time

Intensity of light

et 3R 3
aetarss 3R 3T

Virtual and inverted

Real and inverted

mﬁﬁmﬁmﬁfmﬁ@q—mqﬁzmgmm%?

@A) fre-ghean - (B)
(C) FR‘I—QIQIQIE’H (D)

-gfted
sfagend

Which of the following eye defects is removed by convex lens ?

(A) Nearsightedness (B)
(D)

(C) Presbyopia

Farsightedness

Astigmatism

aot-faeuor ermar & fee Frefefaa o 9 T H@l 8 2

) wett ®)
y
-1
©  wet— (D)
v r

w=(p, =K1, )1, —1)

_By ¥y

w 1
By -
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which of the following relations is correct for dispersive power ?

'_-‘__“Ip — “r

{A} W Hy -1 (B) w=(}1-” - b,l.r}{l-ly - u .

n, =1
—_Y B
C wr= = w r
(©) Wy =R, By W=y

frafd T ST T AT o ¥ 1 HE (o= 3/2) F TR AR G

3¢

N S | =
4¢

© 3 D) 3

velocity of light in vacuum is c. Its value in glass (p= 3/2) will be

3

(A) f‘ (B) -%
4.

© 3 @ 3

FEFE FATERH & oY @il qreRtE S os B §

& oS ®  foxfe
S,
7 D) fo+ /Lo
The length of an astronomical telescope for normal adjustment is
A Jo—Je B)  SfoxSe
(C) % D) fo+fe

o WY A F A F o FEIEHN G T R §

A 1mm (B) 2cm

w/zs cm D) 1m

117]C |(A)-9001-C33) Page 13 of 28




Focal length of eye-lens of a healthy man 18 about

(A) ] mm (B) 2cm
(C) 25 cm . (D) 1 m
A c >
36. X F o -87g frafafEa § w9 fAefaa & € 7
A -4 4 A A-4
Ay X—— ¥+ He B  X—
Z z=2 2 Z z+2
A A+4d A A+4
()  X——> Y+ He (D) X—
4 z-2 2 z z+2
- A
Which of the following represents the a -decay of p X ?
A A-4 4 A A-4
(A) YX——-—> Y+ He (B) ZX——+ o
A A+4 4 A A+4
(C) X—— Y + He (D) X
4 z2-2 2 Zz Z+
37. frefafea & &9 Hifers & @1 & 2
(A) g (B) L irAC
(C) -0 (D)  FAEEH
Which of the following is not a fundamental particle ?
(A) Neutron (B)  Proton
(C) « -particle (D)  Electron
38, TV 5@RY & faw Frefefaa § #F agfa-oE € 2
(A) 30-300 Hz (B) 30-300 kHz
(C) 30-300 MHz (D)  30-300 GHz

Which of the following is th
30-300 kHz

30-300 GHz

(B)

30-300 Hz
(D)

30-300 MHz

(A)
(€)

e frequency range for TV broadcasting ?
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39 AT F AR % fon fsfebaa b 9 e @@ g o

-

A THEe :
(A) ‘ (B) M
C ' .

Which of the following units is correct to measure attenuation ?
(A) dccibel (B) ohm
(C)  ampere (D)  volt

40. T pUER HEG-UIeAF AT &
(A) AT
(B)  HUNATH
(C) A=Y
(D) TH I A9 W HAEEE Aferd 399 J9HE 9 Saree

A p-type semiconductor is
(A) positively charged
(B) ncgatively charged

(C) uncharged
charged at higher

(D) uncharged at absolute zero temperature but

temperatures  https://www.bsebstudy.com

41.
(A)  h (B) %
© = o L
The minimum orbital angular momentum of an electron in a hydrogen atom is
A ® %
© = o 2

Page 15 of 28
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ST HUEH GAIV] H FATHAT @1l €

42.
Ay 3 B} 4
< 5 (D) 6
Donor impurity atom has valency
(A) 3 (B) 4
(C) S (D) 6
43, fowdl angg & amifars wEeEaT ( e, ) 816 §
A = (B) ex€g
€o
(C) €+€, (D) €-%p
The rclative permittivity ( €, ) of a medium is
A = (B) €x&
€o
(C) E+E, (D) €E~€p
44, UF fag mqﬁrgﬁwﬁqa-%wawmﬂm?
1 d
1 4q (B) —
(A) dney ' r an €y r?
1 g
2.7 (D) o
(C’ 411_ EO 4n Eo r

) : .
The value of electric potential at a distance r from a point charge 41

1 q
1 q - 5

(A) 4n €, T (8) 4rey r?
2

1 q
qg.r (D’ ,—

(C) 4n € r

4n €p 0
Page 16 of 28
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(A F AW « T st - $A AEN
F HAEA
o e |
o1 I (D) T IEN » FA HGAA
Surface density of charge is equal to
(A) Total charge x Total area (B) Total charge
: Total arca
) Total Cha_rge
( Total volume (D) Total charge x Total volume
qr1 &1 TR Rerie giar &
(A) 80 (B) 60
1 (D) 425
The diclectric constant of water is
(A) 80 (B) 60
cy : \p( 425
R fa=an =t gt ) faeg-wiftan @t &
R
4 R
I (B) 4neg
4n e
(C) R (D)  4xe,.R?

Elcectrical capacitance of earth of radius Ris

“’(] 4:10

4n e
0
©

(B) 4rey R

(D) 4ney.R?

Page 17 of 28
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e Mfinay aueR A e

18.
) ] 1:('11.1_{ (B) lﬁq x 1
| Uahvg
| HH
. ., D —_—
©) 1 dlee « 1 3 (D) | awe
One ampere is equal 1o
(A) I coulomb (B) 1 coulomb *1 second
| second
1 ohm
(C) I volt x 1 ohm (D) TGBTF
49, fagd algch 9 &) TS @
(A) e B) A
c) Al (D) e sifer QTR
Unit of cletromotive force is
(A) newton (B) joule
(C)  volt (D) newton/ampere
50. eiawiii & feu famfafaa § i qEr e ?
(A) ¥ A.C. I D.C.H T g
(B)  T& D.C. I A.C. H F&wH €
(©) T& D.C. drd F| QAT A1 Ul €

(D) & A.C.Heedl F agTaT a1 BT ¢

Which of the following is correct for transformer ?

[t converts A.C. into D.C.

(A)

(B) It converts D.C. into A.C.

(C) It increases or decrcases D.C. voltage
(D) I{ increases or decreases A.C. voltage

Page 18 of 28
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,lwdﬂu YA 99T &1 S 1 e 2

(A N N
(B) A.m
I‘.L‘] A.m _J}_T_"
(D) N

5.1 unit of magnetic pole strength is

N
(A N
(B) A.m
A.m A.m
TR~

(C)

gl % TR Y W 97 HI07 61 7 @l

(a0 (B)  90°

€ 45 D)  180°

The valuc of angle of dip at magnetic pole of the earth is
@Ay 07 (B)  90°

()  45° (D)  180°
fratd ! TThF AT &1 79 &iar &

(A) 05 % SR (B) A=
) 1% W D) I

The value of magnetic susceptibility of vacuum is
(B) infinite

(A) equal to 0-5
(D) Zero

(C) cqual to one

gwﬂﬂm(u)i%qﬁm%@ﬁﬁﬁﬂmﬂﬁ%?

W on-t CES
€ w=B.H D) p=(B+H)

Page 19 of 28
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relations s corree

Which of the following
2
A = B HH
(C) n=B.H (D) p=(B+H)
5 & efad TTH B",!
i

55. pamly quakR N e qawla #d b,

B & acu uzm i, @ o fuefeiea § @9 @ ¥ 7
(A) ' B,, = Bcoss (B3) BV = Bcosd .
(D) B, = B, 8ind

(€) B,, = Bsind
. 3K 5 H - 1 B
If B is carth’'s magnetic ficld in magnetic meridian, 6 is angle of dip. &y

—
' . whi
horizontal component of E and By 18 vertical component of B, then 4

the following relations is correct ?

(A’ B”' = Bcosd (BJ BV = BCOS&

(C) B, = Bsind D) By =By sind

56. forE-RIRd wi & W @) R e @

(A) E % guiw B) B ¥ @AM

© (B x E )% TH® (D) (E x B) % GHR

The dircction of propagation of electromagnetic wave is

-

- -
(A) parallel to E (B) parallel to B

- -
(C) parallelto( B x E ) (D) parallel to (E KB)

117 ] C |(A)-9001-C(33 Page 20 of 28




N frrafeliee 3 fsa sifiras wfr &1 RO S 1 AT Al ¥ 7

R (B)  d@al
() TR —

(D)

interference of light is the redistribution of which of the following physical
quanlitios )

(A) F"Cqucncy (B) Intensity

(C) Wavclcngth (D) Speed
cg. P T TR -gomr gy &

A IH B)

(€) 91 x10 3y, D) 1:6 x 10 *"kg

The rest mass of photon is

(A) Zero (B) infinite

(C) 91 x10 3 q (D) 16x10%kg
59, SR I AGH I gler

(A) E -E, = é—hv (B) E -E,=hv

€ E, -E,=3hv (D) E-E, = %hv

Bohr's frequency condition is

1
(A) E,-E, = Ehv (B) E,-E, =hv
‘ — o : — 3

(C) E,-E,=3hv D) E -E,=7hv
60. |R Il &1 Hid glar €

(A) TR foguen (B) el SR

© T Fol e - (D) AR e

[ 117 ] C |(A)-9001-Ca3) Page 21 of [l




The source of solar encrgy 18

(A) nuclear fission
(B) chemical reaction
(C) annihilation of clementary P“'r“dcs
(D) nuclear fusion
: a_ﬁ;{ 7
61, h@mﬁw@mwwﬁrﬁf@ﬁﬁ €
(A) ~ Gt )
(C) g (D) ST

Which of the following is the best conductor of electricity ?

(A)  Silver (B)  Copper
(C)  Gold (D)  Zinc
62. NOR-§R& 1 Jferad sish gral &
(A) A+B=Y (B) A.B=Y
(C) A.B=Y D) A+B=Y
Boolcan cxpression for NOR gate is
B) A.B=Y

(AJ A+B=Y

(C) A.B=Y \pr)/ A+B=Y

fo-3muTdt WA (1001), F UHE HEA Al €

(B) (18ho

W2 (25)

63.
(A) (12)0

(C 9o

[ 117 ] C [(A)-9001-Cg3)| Page 22 of 28




e d - 'm.
rhe decimal number of binary number (1001), is

iAl {]‘?llu

' o (B) (1840
C! (Pho

‘ (D)  (25)ho

: 1'% 991% & FRo1 R gfaxiy & aieis § 399 SuA el ©
(A) 1. Rt 2

. (B) I.R%.t

M| I~ . R .

v t {D] Iz.RZit

The heat pro .

the . produced in a conductor of resistance R duc to flow of current I for
ume 18

A R B) I.R%.t

) 17 .R1 D) 12.R%.1

51L-sla(m)wﬁaﬁmmwm%

A 3 - R

{A) XL > J—
(H1ex)? (B) 5> 107 T ey
) R -

© Sx10° D) 5102 =R (AR)?

(H1=7)2

Magnetic field of 5 tesla is equal to

~ ‘eb
(metre)” (metre)
(€] 5x 102 —Weber D) 5 x 102 weber x (metre)”

{metre]2

geEA URT W rm.s. B (1) HR GedmEdl ¥Rl o1 REE H"E (lo) % o

(A) ]r.m.s. = 0-5051, (B) Ir.m.s. = 0-606 1,
(C) 1., =07071 (D) I . =0808I,

7]C [(A)-9001-C33) Page 23 of 28




nd peak value

) a
~ur|’Cl'lt ( Irr s
The relation between r.m.s. value of alternotné ©
of altcmau'ng current {1y) is I
= 0606/,

tA) l'r m.s = 0505 10 lB] llpr,m.:s.

| = 0808 fo
(C) I"-m.s. = 0707 I, (D} "r s

o7. fa Hﬁfﬂ @ o ;ra:naFﬂ Yy
s 1 5 g &
> (B) W L
(A) T
L
l 10/ |
) N . wance LD ac circut
Inductive reactance offercd by an inductor of induct
nauc B
ngular frcquency o is https:w’-*wwwvbscbsmdy.wm
a
(B) w.L
w
A T
L
- O
‘Cl llJ'L
g ?
68. ﬂ%gﬂﬂﬁ%%qﬁn&afaﬂﬁaﬁamwzﬁ
oI
i = o T A
() i T = qure WA
s T 9
T - -_-________--—-'—'__-_-
R L s A
ee} T AE
- — -______..——--——-
I S R
g e |
T ! g i x 31["1@
(D) T TN =2 [ @




which of the following relag
long

C

(B) Power factor « APparen, average pow
cr
e average power

(C)  Power factor « _ True average power
Appmrcm average power
(D) Power facor = |
2 [ True average power x Apparcnt average power |
69 & "'*ﬁm%mmmg
(a3 ' (B) 4
@ 3 (D) 6
Value of green colour code on carbon resistance is
Ay 3 (B) 4
) S (D) 6
N JRR > AT &
0. TEEEET B A v A vfiier s () W R At 9t &
- - = ng Py
(Al F,=q(VxB) BT F,=q(BxV)
5 B xV - (V x

R .
o _ . tic field
Expression of force on a charge g moving with velocity V in a magnecuc

—
B is
— -+ - F_= {_B’x-‘:;l
(A) Fm=Q(V"B] e "
. =
o - (qu ) (D) F, q
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F1g Iwta W / Short Answer _Typ;::e;:m;ﬁ & [T 2 ¥
mm.l#goaggwﬁﬂfiﬁ‘?flo # 10%2 =2
. ... Fach qu€slig
mriﬁm. ! 1o 20 are Short Answer Type. Answer any 10 question™ ’ 10 % 2 =2
carries 2 marks :
| g safreor &) @) srevEE @ ford |
Write two cssential conditions of constructive interferencc. :
o ) Wi A @ a9 @ E 2
What do you mcan by powcer of accommodation of eye ?
3. ST | A9 ¥ FEd € ? ?
What do you mean by semiconductor ?
4. fadrgs smue &t @A 2
Explain sccondary rainbow.
5. wma-ad frow @ ferd 2
Write Biot-Savart's law.
6. fomm 3R i wHAD | 2
Explain electrical resonance.
7. e T T & ST A 0T A Y T WA € 2 2
| What do you mean by apparcnt angle of dip at any place ?

8. & # fgw fed
Writc Brewsler's law.

0.  gigwnR ¥ dm-ar w9 |

Explain copper-loss in a transformer.
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19,

11

12.

14

16,

17.

18.

19.

T T 41 T |

Explain solar cell.

AEE F wiitr F smg g que § ?
What do yoyu Mcean by capacity of a conductor ?
M*J?Iéﬁmm?ﬁﬁ(w&liﬂéﬁs‘l.mﬁw' ’
Define volume density of charge. Write its S.1. unit.

. 2
Bl T R o voram =) aivum 3

Define electrie flux 6n a surface

TR fav 5 gfyymy & |

A
b

Define magnetie potential. .
AHTH TN SARH W F fom sy vt w1 e -

Write niccessary conditions for total internal reflection of light.

'IT?Wéﬂﬁﬁmmmﬁ? @
What do you mean by Paschen series ?

" @
NAND-R& & ¥uam |
Explain NAND-gate.
g Higes # wwem | @
Explain [requency modulation. .
aret (3 Tt & < it ferd
Write two properties of beta ( ) rays. .
n-THR & GATTH I Jo | <

Explain n-type of semiconductor.
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tions
i 39 We / Long Answer Type Questic F | gAF # frg

gyl @& IA7
mmz:#zsaﬁm?zrm#fﬁ??3 3x5=15
5 3% fruifea & : 3 questions. Each
e swer any 3 4
Question Nos. 21 to 26 are Long Answer Type Questions. Answe 3x 51§
(ll'[,l{(f-ﬁ“‘\']n carries 5 murks : 5
21, WA A % feu A fea gan g3 e
ul—.—:E I - ] L
;o R R,
Establish the formula for thin lens given below
1
-1y |4 -1
" } ! [Rl RJ}
S

22, WY YenaRil &) e wmen & o wist unaA w5
Find out the expression for magnifying power of compound microscopce

o5 G'T?:hqﬁu-hﬂa%&mwhﬁgm&mﬂhm%ﬁﬂmwﬂﬁmﬁl S
IZstablish the expression for eleetric potential at a point duc to a small clectric
dipole. https://www.bsebstudy.com

247 TEEA W & Ange # fen s T a5 S
Find out an expression for root mecan square value of an alternating current.

25, AT, SR SR e ey @ i 6 e s~
Write properties of diamagnetic, paramagnetic and ferromagnetic materials.

26.  fegmfey qammwmﬁmamwmwwaﬁ?@nﬁa IUEZEL R

% o Fres g (v vy ) i 5

What do you mean by half-life and average life of a radioactive substance 4

Establish disintegration formula (N = N, e~ ) for radioactive subst
ance.

h?%
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